E000990 / E

Sheet 1/2

BACK FRAME L34 TUB TIMIX / FOREST 3

Plan No.

E000990/E

Scale: 11 Drafted Verified Confirmed
Date 22/06/2015 24/04/2025 24/04/2025
Initials SD PM MK




Material

No. Plan Article Quantity No. Plan Article Quantity
1 X001016 1001682 4 14 YP09205 2638854 (40) 1
2 X001052 G066600 YP09206 2638954 (45) 1
3 X001119 1001554 YP09207 2639054 (50) 1
4 X004048 1902685 15 M8x16 DIN912 1001498 4
5 1908883 (40A) 16 D3,9x16 DIN7982 1005767 4

1908877 (40B) 17 M6x20 DIN912 1001493 4
1908880 (40C) 18 M6x15 1009932 2
1906938 (40D) 19 M8x20 ISO7380 1992349 2
1908884 (45A) 20 2993352 1
1908878 (45B) 21 M8x30 ISO7380 1992717 2
1908881 (45C) 22 M6x16 DIN7991 1994752 4
1906940 (45D) 23 30x20 1997922 2
1908885 (50A) 24 M8 DIN125 1003199 2
1908879 (50B 25 M6x25 ISO7380 1006998 2

(

(

)
- 1908882 (50C)
-- 1906942 (50D)

—_ =~ S N NN NN

6 X004820 1744532
7 X004821 1744632
8 X004822 1744732
9 X004823 1744832
10 X004861 1906454
11 XP00921 2991609
12 Y018564 1774200
13 Y019511 1784645 (40)
Y019510 1784754 (45)
Y019512 1784854 (50)
Sheet 2/2
A: Black skai - Blue lining — —
B: Black skai - Light green lining BACK FRAME L34 TUB TIMIX/ FOREST 3 F000990/E
C: Black skai - Red |ining Scale: 11 Drafted Verified Confirmed
EO000990 / E D: Grey soft / Black ska Date 22/06/2015 24/04/2025 24/04/2025 v N
Initials SD PM MK




